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DISCRETF. STRUCTURES
(Common with CO., IT)
V Paper : CSE-2G65 E
(According to Syliabus Dec. 2004)

T1me : “three Hours) / {Maximum Marks :
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(b)
L)
(b)
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(c)
5504

Note :— Attempt any FIVE questions.

By mathematical induction, prove

=)
Prove principle of Inclusion and Exclusion for n sets.

Construct truth table for :
@ G->pvE-p)
(i) (o =vig — 1)) % (p*r q) 249~ 1)
P, q, T are_propositions. 104=30,
Formulate the Tower of Hanoi problem as a Recurrer
relation and then solve this recurrence relation.

44-5 Y=
Clearly define Lattice, Antichain.

Let R be a binary relation on set of all strings of 0s and
such that R = {(a, b) | a, b are strings that have same num!

of Os}.

Is R reflexive ? Symmetric/Antisymmetric ? transitive /
it equivalcence relation or p.o. relation ?

From integers 1....200, 101 of them are chosen arbitrar

1 (Contc
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L

8504

{(a)

4}

(b)

(2)

{n)

(a)

How many minimum pairs are found to exist such that one
b H

divides znother in that pair 7

Using generating funstions, solve
)= ?Lar_l +2a 5 = H Q
given that 8= 7 8. 1 By 1
e Ll

how many ways can these intejrers be sewcied
1
t

Three mtegers are selecied from o

sum 1s divasible by <

f,&:l (A, g) bC a semirroup 'W';'IC{L‘
a*a=h Show that :

() a=b=bra

(11 b*b="%h

Show that an ind

elements is a sl

Lot (F

2

b ) a > b . vyl o . e '
(Caeal domiain il hes a IR Nasiher ol

6

15s)
| e

16003 T
Say L'f{JU EH

saeh thas ther

&
a3

dM? 9
{

i

he the rreld ol i Rgor niodulo 2 &

i il g A
(B{x]. | +1 ; [__! ) b correspéooanyting of polynomiais.

Construct the nig of poly@Gouiis modulo ]

’

e )

~ \ ) .
State Lagrange’s thdorcmd afid give sonse example of it 8

Prove clearly necessiy and sutticient condivon toy Buleanan

path.

11

n citicd areewnaccted by a network of K highways.

1
Show that'if K= -{n -1)(n 2) | then ope can always

travel between any two citics through connecting

highways.

2

Prove that, by coalcscing of vertices, a minimuin spanning

tree can be obtained from a graph.

8

{(Cantd )

5504

(b) A tree has n, vértices of degree 2 n, vertic

()
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3 & ...n, vertices of K degree. How many verti
1 does 1t have 7

How many edges are common in €very circu
cut-set 7 Jusiifv your answer.
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